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A H AT ¢ 1,700,000« 1= 1,700,000
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AR 222 H] 200,000 #13)= 200,000
BRI ERREERE R <
Zjuolaol 16 #en] ¢ 78,0009 12 936, 000
2=
(%?Jﬁﬂ)%ﬂ%@ﬂ%ﬂﬂl : 101,800 1,018,000
#109=
(A2 AA)HSE AEH] 0 100,000912Y= 1,200,000
3 1AL 9,348 9,908 -560
A3 20229 029 09% 114 33% 45% 14 APECuUSH olg B xE3w




20223

ATE 1 Relak (s = 2l
A+ AdE | mw o
39 a9l | AR | ARIE AAEANE VEN qna | 22 S
1. dukgn) 2,028 2,188 -160| EAFE A TS] 1 250,0009)#23]= 500,000
Z5LASH] 1 50,0009 %118 #23]= 100,000
HAEETS ¢ 70,0009 #103]= 700,000
A EY S ¢ 528,0009+13]= 528,000
SRR HPALEHETS 100,000 #23]= 200,000
2. g5 5,80 7,080 -1,200 iggf}&uﬂ%%&x}ﬂam  490,0004d 5,880,000
3.09m 440 440 0|3 RS2 ol n] ¢ 40,0009 19 #13]= 40,000
] Egein] 10,0009 27 #203]= 400,000
4. Y EA N 1,000 200 800 | €FE4] 1 250,0009)#43]= 1,000,000
4. [F1FABE 5 0 0 0
2. A1 A A 125,888 121,107 4,781
1. 3F A g u] A 125,883 121,107 4,781
1 [z2]FFaaLAATIgT 45,540 47,179 -1,639
1L.A7185% 24,000 26,648  -2,648| A7l 9F 2,000,000 x12¢Y= 24,000,000
2. 8w R 14,400 13,200 1,200 | A3t E8 5 1 1,200,0009x129= 14,400,000
3. gEEe T 7,140 7,331 -191|QUEIYIEAIH] 1 350,000 129 = 4,200,000
¥ F ¢ 15,0009x12Y= 180,000
AstRAXQF 1 230,0009%129= 2,760,000
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